MILL VALLEY JR

FULL STORAGE BED

(3422192P) FULL STORAGE BED - WHITE / WASHED WHITE
NO. RTG SKU# STYLE# ITEM DESCRIPTION Qty
® 34821923 C2192Y-FXO FULL HEADBOARD 1PC
34921925 C2192Y-FTJ FULL STORAGE FOOTBOARD 1SET
© 35021928 C2192Y-FTR FULL STORAGE RAILS 1SET
) 35221922 C2192Y-YXS TWIN/FULL RAIL DRAWER CASE 1SET
® 35121920 C2192Y-FXJ FULL FOOTBOARD DRAWER CASE 1SET

(3422193P) FULL STORAGE BED - CHERRY / BROWN CHERRY

NO. RTG SKU# STYLE# ITEM DESCRIPTION Qty
@ 34821935 C2193Y-FXO FULL HEADBOARD 1PC
34921937 C2193Y-FTJ FULL STORAGE FOOTBOARD 1SET
© 35021930 C2193Y-FTR FULL STORAGE RAILS 1SET
) 35221934 C2193Y-YXS TWIN/FULL RAIL DRAWER CASE 1SET
® 35121932 C2193Y-FXJ FULL FOOTBOARD DRAWER CASE 1SET

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST.

This product is manufactured by LFST for  ROOMS TO G® | KIDS

VERSION 2 - 2023/03/28

Page 1 of 5




MILL VALLEY JR

FULL STORAGE BED

(3422192P/ 3422193P) FULL STORAGE BED- WASHED WHITE / BROWN CHERRY

NO. RTG SKU# STYLE# ITEM DESCRIPTION IMAGE Qty
® Headboard Leg (L&R) 2PCS
34821923/ 34821935 | C2192Y/C2193Y-FXO | Headboard panel ﬂ 1PC
© Headboard bottom rail / 1PC
D) Siderail \ 2PCS
E)| 35021928/ 35021930 | C2192Y/C2193Y-FTR | Center Slat == | 1prcC
® Support leg for center slat 4—» 3PCS
©) Footboard % 1PC
—— 34921925/ 34921937 C2192Y/C2193Y-FTJ TSET
@ Slats (13PCS)
Bottom frame for drawer of Q
@ siderail 2PCS
@ | 35221922/ 35221934 | C2192Y/C2193Y-YXS | Drawer for siderail > 2PCS
® Support leg of bottom frame -éB@)) 4PCS
Bottom frame for drawer of
1PC
2 footboard %
@ | 35121920/ 35121932 | C2192Y/C2193Y-FXJ | Support leg of bottom frame =%—9 | 2pPcs
® Drawer for footboard @ 2PCS
HEADBOARD-HARDWARE LIST TOOLS REQUIRED(NOT PROVIDED
Qt
NO. ITEM DESCRIPTION IMAGE y PHILLIPS SCREWDRIVER =
JCBC Bolt 5/16"X18X35mm 8PCS
Lock Washer 5/16"X13mm @ 8PCS
1 Flat Washer 5/16"X19mmX1mm 8PCS
Allen Key / 1PC
Wooden Dowel = 4PCS
FULL FOOTBOARD DRAWER CASE-HARDWARE LIST
JCBC Bolt 1/4"X20X38mm ) 4PCS
2 Lock Washer 1/4"X16mm &S 4PCS
Flat Washer 1/4"X16mmX1mm 4PCS
Allen Key / 1PC
3 Wood Screw @8XJ4X1-1/4" r— 3PCS
TWIN/FULL RAIL DRAWER CASE-HARDWARE LIST
JCBC Bolt 1/4"X20X38mm ) 8PCS
4 Lock Washer 1/4"X16mm @ 8PCS
Flat Washer 1/4"X16mmX1mm 8PCS
Allen Key / 1PC
5 Wood Screw @8X@4X1-1/4" [N— 18PCS

This product is manufactured by LFSTfor  ROOMS TO G® | KIDS

VERSION 2 - 2023/03/28

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST.

Page 2 of 5




MILL VALLEY JR

FULL STORAGE BED

Hardware pack location

FULL HEADBOARD

RTG SKU# STYLE# ITEM DESCRIPTION
34821923 |C2192Y-FXO

FULL HEADBOARD
34821935 |C2193Y-FXO

Hardware pack location

Hardware pack location

FULL FOOTBOARD DRAWER CASE

RTG SKU# STYLE# ITEM DESCRIPTION
35121920  [C2192Y-FXJ
FULL FOOTBOARD DRAWER CASE
35121932  [C2193Y-FXJ

Hardware pack location

TWIN/FULL RAIL DRAWER CASE

RTG SKU# STYLE# ITEM DESCRIPTION
35221922 |C2192Y-YXS
TWIN/FULL RAIL DRAWER CASE
35221934 |C2193Y-YXS

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST.

This product is manufactured by LFST for  ROOMS TO G® | KIDS
VERSION 2 - 2023/03/28

Page 3 of 5




Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts
which may have come loose inside the carton during shipment. Identify and count all parts and compare with
the parts list. Read all instructions before assembling bed and keep these intructions for future reference.

( ASSEMBLY INSTRUCTIONS j

Repeat STEP 44&5 for footboard &
another side of bottom frame assembly.

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST.

This product is manufactured by LFST for  ROOMS TO G® | KIDS
VERSION 2 - 2023/03/28 Page 4 of 5




Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts
which may have come loose inside the carton during shipment. Identify and count all parts and compare with
the parts list. Read all instructions before assembling bed and keep these intructions for future reference.

[ ASSEMBLY INSTRUCTIONS j

REMARK:

Fasten the drawer glide screws on the drawer bottom frames
to eliminate any gaps between the side rails and the drawer
front panels. See STEP 8.

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM
WITH SERVICE OR PARTS REPLACEMENT REQUEST.

This product is manufactured by LFST for  ROOMS TO GO® | KIDS
VERSION 2 - 2023/03/28 Page 5 of 5




